Assembly instructions
Notice de montage
Montage instructies

Montageanleitung

Istruzioni di montaggio

Instrucciones de montaje

UHCTpYKUuMA no coopke

Instrukcje montazu




PARTS AND TOOLS LIST

NO Name Qty
1 Leg 2
2 Foot Margin 2
3 M8*16 Screw 8
4 Bracket 2
5 M6*10 Screw 4
6 Support Beam 1
7 4mm Hex Spanner 1
8 5mm Hex Spanner 1
9 Rubber Cushion 10
10 ST4.819 Screw 10
11 ST3.5*19 Screw 7
12 M6*12 Screw 12
13 M6*16 Screw 4
14 Cable Clip 5
15 Adaptor 1
16 Handset 1
17 Power Cable 1




4 MM HEX SPANNER

_— 4 MM HEX SPANNER
®
® @ Ih
= i 3

@ M6*10 Screw 2 PCS




M6*12 SCREW 8PCS

'

4MM HEX SPANNER

m—



M8*16 SCREW 8PCS

5MM HEX SPANNER

—



RUBBER CUSHION 10PCS M6*12 SCREW 4PCS

L~ g

4MM HEX SPANNER






v+

“ M6*16 SCREW 2PCS+ST4.8*19 SCREW 2PCS

OR
i
7
///ST4.8*19 SCREW 4PCS

"/

ST3.5*19 SCREW 2PCS

ST4.8*19 Screw 2PCS

M6*16 Screw 4PCS

4.8*19 Screw 8P

ST4.8*19 Screw 2PCS

EN: Do not use ST4.8%19 screws for a table top that is thinner than 20 mm

FR: N'utilisez pas les vis ST4.8%19 pour un plateau de table plus mince que 20 mm

NL: Gebruik geen ST4.8*19 schroeven voor een tafelblad dat dunner is dan 20 mm

IT: Non usi ST4.8*19 viti per un piano da tavolo piu sottile di 20 mm

ES: No utilice tornillos ST4.8%19 para un tablero de mesa que sea mas delgado que 20 mm
DE: Verwenden Sie keine Schrauben ST4.8*19 fiir eine Tischplatte, die diinner ist als 20 mm
RU: He ncnonb3yiite ST4.8%19 BUHTOB ANA CTONELWHWL b, KOTOPas TOHbLUe 20 MM

PL: Nie nalezy uzywac ST4.8%19 $rub do blatu, ktdra jest cierisza 20 mm



ST3.5*19 SCREW 5PCS CABLE CLIP




User's manual
Manuel d'utilisation
Gebruikershandleiding
Benutzerhandbuch
Manuale dell'utente
Manual de usario
PyKOoBOACTBO nosib3oBaTensa
Uzytkownik Manual
Manual de utilizare

—

=




Display Up Set Speicher-Tasten -

Ports
USB A
UsBC

Down Zuriick

Bedienungsanleitung WP-H76 Handgerat

Bitte beachten Sie vor der Inbetriebnahme:

- Vergewissern Sie sich, dass sich keine Hindernisse im Weg des Tisches befinden.

- Vergewissern Sie sich, dass der Schreibtisch keine Wande berihrt.

- Vergewissern Sie sich, dass alle Kabel die richtige Lange haben, um die Héhen
veranderung auszugleichen.

Funktionen des Horers

Auf/Ab

1. Driicken Sie « A », um den Schreibtisch nach oben zu fahren. Der Handapparat
zeigt das Symbol fir das Hochfahren mit einem gruinen Blinklicht an, bis er die
hdchste Position erreicht hat.

2. Dricken Sie « V », um den Tisch abzusenken, das Mobilteil zeigt das absteigen
de Symbol mit griinem Blinklicht an, bis es die niedrigste Position erreicht hat.

3. Driicken Sie kurz « A » oder « V », um die Hohe des Tisches leicht zu veran
dern.

Initialisierung

- Wenn das System nicht ordnungsgemalf funktioniert oder der Handapparat die
Meldung "Please keep pressing arrow down to reset" anzeigt, muss das Pult initial
isiert werden.

So initialisieren Sie das Pult:

1. Halten Sie « V » gedrulckt, bis der Rahmen die unterste Position erreicht hat;

2. Halten Sie « V » 5 Sekunden lang gedrtickt, bis Sie einen Piepton héren.Das
Mobilteil zeigt "Bitte halten Sie den Pfeil nach unten gedriickt, um zuriickzuset
zen".

3. Halten Sie " V " 5 Sekunden lang gedriickt, bis Sie einen zweiten Piepton horen.

Das Pult ist erfolgreich initialisiert worden.

Navigation in der Menuleiste
Um zur Menlleiste zu gelangen: Dricken und halten Sie « OK ».

- Hier finden Sie die folgenden Funktionen:

1. Erinnerung - Hier kénnen Sie einen Erinnerungs-Timer mit einem Intervall von 5
Minuten einstellen.



2. Speicher - Hier kdnnen Sie einen Benutzer auswahlen und eine Sitz- und/oder
Stehhdhe fir den ausgewahlten Benutzer einstellen (bis zu 4 Benutzer).

3. Sprache - Hier kdnnen Sie eine Sprache fir die Benutzeroberflache auswahlen
(Chinesisch, Englisch, Franzdsisch, Deutsch, Niederlandisch, Italienisch, Span
isch, Polnisch und Rumanisch).

4. Hohenbegrenzung - Hier kdnnen Sie eine maximale oder minimale Hoéhenbe
grenzung festlegen oder eine maximale oder minimale H6henbegrenzung aufhe
ben.

5. Kindersicherung - Hier kdnnen Sie die Kindersicherung ein-/ausschalten.

6. Beleuchtungseffekt - Hier kdnnen Sie den Beleuchtungseffekt ein- und auss
chalten.

7. Bluetooth - Hier kdnnen Sie die Bluetooth-Funktion ein- und ausschalten.

8. Mehr - Hier kdnnen Sie den QR-Code anzeigen, der zur Bedienungsanleitung
des Mobilteils flhrt, und die Parameter des Mobilteils andern.

9. Hard-Reset-Modus - Hier kénnen Sie das System hart zurlicksetzen.

Die Erinnerungsfunktion

1. Wahlen Sie "Erinnerung" im Menu und driicken Sie « OK ». Auf dem Display wird
"0 min" angezeigt.

2. Driicken Sie « A » oder « V », um die Zeit in einem 5-Minuten-Intervall einzustel
len,und driicken Sie « OK ».

- Das Alarmsymbol und die gewahlte Zeit erscheinen in der oberen rechten Ecke
des Displays und das griine Licht blinkt dreimal, was anzeigt, dass der Timer lauft.

- Wenn die gewahlte Zeit erreicht ist, ertont der Summer 5 Mal und das Licht blinkt
orange.

3. Drlicken Sie die Taste « < », um die Erinnerungsfunktion zu beenden.

Die Speicherfunktion
- Das Handgerat kann eine Sitz-/Stehhéhe fur bis zu 4 verschiedene Benutzer
speichern.

. Wahlen Sie "Speicher" im Menu und drucken Sie « OK ».

. Wahlen Sie "Einstellung" und drticken Sie « OK ».

. Wahlen Sie einen Benutzer (1-4) und dricken Sie « OK ».

. Wahlen Sie "Sitzen" oder "Stehen" und dricken Sie « OK ».

. Bewegen Sie den Tisch nach oben oder unten in die gewtlinschte Position, driick
en Sie « OK » , und "...\ " wird angezeigt, was bedeutet, dass die Sitz-/Stehposi
tion erfolgreich eingestellt wurde.

abhwnN -

- Die gespeicherten Positionen gehen beim Ausschalten des Gerats nicht verloren.

Umschalten der Sprache
1. Wahlen Sie "Sprache" im Menu und dricken Sie "OK". Es werden neun
Sprachen angezeigt.



2. Wahlen Sie die gewtiinschte Sprache und driicken Sie « OK ».

Sprachen: Chinesisch, Englisch, Franzdsisch, Deutsch, Niederlandisch, Italienisch,
Spanisch, Polnisch, Rumanisch.

Einstellungen der maximalen und minimalen Hohenbegrenzung
- So legen Sie eine maximale oder minimale Héhenbegrenzung fest:

1. Wahlen Sie "Hohenbegrenzung" im Menu und driicken Sie « OK ».
Die folgenden 4 Vorgange kénnen ausgewahlt werden:

- Obere Grenze einstellen

- Obere Grenze aufheben

- Unteren Grenzwert einstellen

- Aufhebung der unteren Grenze.

2. Wahlen Sie den gewilinschten Vorgang und driicken Sie « OK ».

Wenn Sie eine Hdohenbegrenzung eingestellt haben, gehen Sie zur gewilinschten
Position, driicken Sie « OK », und "...\ " wird angezeigt, was bedeutet, dass die
Position der Héhenbegrenzung erfolgreich gespeichert wurde.

So heben Sie eine Hohenbegrenzung auf:

- Methode 1: Wiederholen Sie die ersten Schritte und wahlen Sie aus, ob Sie die
Hoéhenbegrenzung oder die Tiefenbegrenzung aufheben méchten.

- Methode 2: Zuriicksetzen des Systems

Die Kindersicherungsfunktion

- Sperren:

1. Wahlen Sie "Kindersicherung" im Menu und driicken Sie « OK ».

2. Wahlen Sie "Einschalten" und driicken Sie die Taste « OK ».
Das Mobilteil zeigt "...V " an, was bedeutet, dass das System gesperrt wurde, und
das Kindersicherungssymbol wird oben auf dem Display angezeigt.

- Entsperren:

1. Wahlen Sie "Kindersicherung" im Menl und driicken Sie « OK ».

2. Wahlen Sie "Ausschalten" und driicken Sie « OK ».
Das Mobilteil zeigt "...J " an, was bedeutet, dass das System entsperrt wurde, und
das Symbol der Kindersicherung verschwindet vom oberen Rand des Displays.

Lichteffekt-Einstellungen

1. Wahlen Sie "Lichteffekt" im Menu und driicken Sie « OK ».

2. Wahlen Sie "Einschalten" und driicken Sie « OK ». Das Mobilteil zeigt " A"an,
was bedeutet, dass der Lichteffekt eingeschaltet ist.

3. Wahlen Sie "Ausschalten" und driicken Sie « OK ». Das Mobilteil zeigt "N "an,
was bedeutet, dass der Lichteffekt ausgeschaltet ist.



Bluetooth-Funktion

1. Wahlen Sie "Bluetooth" im Meni und drticken Sie « OK ».

2. Wahlen Sie "Einschalten” und driicken Sie « OK ». Das Mobilteil zeigt "...N " an,
was bedeutet, dass die Bluetooth-Funktion eingeschaltet ist.

3. Wahlen Sie "Ausschalten" und driicken Sie « OK ». Das Mobilteil zeigt ".AN"an,
was bedeutet, dass Bluetooth ausgeschaltet ist.

Mehr
1. Wéhlen Sie "Mehr" im Meni und driicken Sie « OK ». Das Mobilteil zeigt einen
QR-Code an, der zu den Anleitungen des Mobilteils fuhrt.

- Um die Parameter zu andern:

2. Halten Sie « OK » 10 Sekunden lang gedrickt, das Handgerat zeigt "S-x" an ("x"
ist die Parametergruppe mit den Werten 1, 2, 4 und 5).

3. Wahlen Sie den gewunschten Parameter, den Sie einstellen méchten.

- 8-1 = Wahlen Sie Inch/CM

- 8-2 = Einstellung der Empfindlichkeit des Antikollisionssensors

- S-5 = Einstellen einer Mindesthdhe, die auf dem Handgerat angezeigt werden soll

- S-6 = Einstellen des automatischen oder manuellen Betriebs der Speichertasten

- Fir S-1: 0 = CM und 1 = Zoll

- FUr S-2: 0 = aus, 1 = am wenigsten empfindlich und 8 = am meisten empfindlich

- Fir S-5: Sie kdnnen aus dem gesamten Hohenbereich des Handgerates wahlen

- Fur S-6: 0 = manuelle Bedienung der Speichertasten und 1 = automatische Bedi
enung der Speichertasten

Nachdem Sie die gewtlinschte Einstellung flr die ausgewahlte Parametergruppe
gewahlt haben, driicken Sie « OK ».
Sie haben nun die Parameter erfolgreich eingestellit.

Die Reset-Funktion

1. Wahlen Sie im MenU "Hard-Reset-Modus" und driicken Sie « OK »

- Das Handgeréat zeigt "Bitte warten" an. Nach etwa 25 Sekunden ertont ein langer
Signalton und das Mobilteil zeigt "Bitte driicken Sie die Pfeiltaste nach unten zum
Zuricksetzen" an.

2. Dricken Sie « V » zum Zuriicksetzen.

- Nach dem Zurilicksetzen werden die Parameter auf die Werkseinstellungen
zuruckgesetzt und zur Initialisierung gezwungen.



Display Up Set Memory buttons ~S L

Ports
USB A
UsSB C

Down Return

Handset instructions WP-H76

Before Operating, Please Take Note:

- Make sure there are no obstacles in the desk's path.

- Make sure that the desktop is not touching any walls.

- Make sure all cords are of appropriate length to accommodate the change in
height.

Handset functions

Up/Down

1. Press « A » to move the desk up, the handset will display the rising icon with a
green flashing light until it has reached the highest position.

2. Press « V » to lower the desk, the handset will display the descending icon with
the green flashing light until it has reached the lowest position.

3. Press « A » or « V » shortly to change the height of the desk slightly.

Initialization
- When the system is not functioning properly, or the handset displays "Please keep
pressing arrow down to reset", it is necessary to initialize the desk.

To initialize the desk:

1. Press and hold « V » until the frame has reached the lowest position.

2. Press and hold « V » for 5 seconds until you hear a beep.The handset will
display "Please keep pressing arrow down to reset".

3. Press and hold « V » for 5 seconds until you hear a second beep.

The desk has been initialized successfully.

Menu Bar Navigation
To go to the menu bar: Press and hold « OK ».

- Here you will find the following functions:

1. Reminder - Here you can set a remind timer with an interval of 5 minutes.
2. Memory - Here you can select a user and set a sit and/or stand height for the
selected user (up to 4 users).



3. Language - Here you can select a language for the user interface (Chinese,
English, French, German, Dutch, Italian, Spanish, Polish and Romanaian).

4. Height Limit - Here you can set a maximum or minimum height limit or cancel a
maximum or minimum height limit.

. Child Lock - Here you can turn the child lock on/off.

. Lighting effect - Here you can turn the lightning effect on/off.

. Bluetooth - Here you can turn the bluetooth function on/off.

. More - Here you can view the QR-code leading to the handset instructions, and
change the paramters of the handset.

9. Hard reset mode - Here you can hard reset the system.

O ~NO O

The Reminder Function
1. Select "Reminder” in the menu and press « OK ». The display will show "0 min".
2. Press « A » or « V » to adjust the timing with a 5-min interval, and press the

« OK » button.

- The alarm icon and the selected time will appear in the upper right corner of the
display, and the green light will flash 3 times, indicating that the timer is running.
- When the selected time is reached, the buzzer will sound 5 times with an orange

flashing light.

3. press the « < » button to exit the reminder.

The Memory Function
- This handset can store a sit/stand height for up to 4 different users.

1. Select "Memory" in the menu and press « OK ».

2. Select "Setting" and press « OK ».

3. Select a user (1-4) and press « OK ».

4. Select "Sit" or "Stand" and press « OK ».

5. Move the desk up or down to the desired position, press « OK » , and "...\ " will
be displayed, indicating the sit/stand position has been set successfuly.

- The memory positions are not lost when the power is turned off.

Language Switching

1. Select "Language" in the menu and press « OK ». nine languages will be
displayed

2. Select the desired language and press « OK ».

Languages: Chinese, English, French, German, Dutch, Italian, Spanish, Polish,
Romanian.



Maximum and Minimum Height Limit Settings

- To set a maximum or minimum height limit:

1. Select "Height Limit" in the menu and press « OK ».
The following 4 operations can be selected:

- Set high limit

- Cancel high limit

- Set low limit

- Cancel low limit.

2. Select the desired operation, and press « OK ».

If you selected to set a height limit, go to the desired position, press « OK », and
"..N"will be displayed, indicating the height limit position is stored successfully.

To Cancel a height limit:

- Method 1: Repeat the first steps, and choose to cancel high limit or cancel low
limit.

- Method 2: Reset the system

The Child Lock Function

- Lock:

1. Select "Child Lock" in the menu, and press « OK ».

2. Select "Turn on" and press the « OK » button
The handset will display "...Y ", meaning the system has been locked, and the child
lock icon will be appear at the top of the display.

- Unlock:

1. Select "Child Lock" in the menu, and press « OK ».

2. Select "Turn off" and press « OK ».
The handset will display "...Y ", meaning the system has been unlocked, and the
child lock icon will dissapear from the top of the display.

Lighting Effect Settings

1. Select "Lighting Effect" in the menu, and press « OK ».

2. Select "Turn on" and press « OK ». The handset will display "...Y ", which means
that the lighting effect is turned on.

3. Select "Turn off" and press « OK ». The handset will display "...\ ", which means
that the lighting effect is turned off.

Bluetooth function

1. Select "Bluetooth" in the menu, and press « OK ».

2. Select "Turn on" and press « OK ». The handset will display "...Y ", which means
that Bluetooth is turned on.

3. Select "Turn off" and press « OK ». The handset will display "...\' ", which means
that Bluetooth is turned off.



More
1. Select "More" in the menu, and press « OK ». The handset will display a QR-code
which leads to the handset instructions.

- To change the paramters:

2. Press and hold « OK » for 10 seconds, the handset will display "S-x" ( "x" is the
parameter group with values of 1, 2, 4 and 5).

3. Select the desired parameter you would like to adjust.

- S-1 = Choose Inch/CM

- S-2 = Adjust the sensitivity of the Anti-Collision sensor

- S-5 = Set a minimum height to be displayed on the handset

- S-6 = Set automatic or manual operation of the memory buttons

-ForS-1:0=CM 1 =Inch

- For S-2: 0 = off, 1 = the least sensitive and 8 = the most sensitive

- For S-5: you can choose from the full height range of the handset

- For S-6: 0 = manual operation of the memory buttons and 1 = automatic operation
of the memory buttons

After you have selected the desired setting for the selected parameter group, press
« OK ».
You have now successfuly set the parameters.

The Reset Function

1. Select "Hard reset mode" in the menu, and press « OK ».

- The handset will display "Please Wait”. A longbuzzer will be heard in about 25
seconds, and the handset will display "Please keep pressing arrow down to reset".

2. Press « V » toreset.

- After the reset, the parameters are restored to the factory settings and forced to
initialize.



Error codes sheet for:

Handset 6
English

* Reset procedure:

Select "Hard reset mode" in the menu and press « OK ». The handset will display "Please wait".

A long buzzer will be heard in about 25 seconds, and the handset will display "Please keep pressing down to reset"
Press « v » to reset.

Error code Possible cause Action

EO1 The main power supply voltage is  Check the main power supply
over 45V
E02 Rod height difference between the Initialize the frame

two legs is more than 1 cm

EO04 Handset connection or Check the power cable of handset
communication error occurred

EO5 The Anti-Collision sensor Release the button and restart
encounters an obstacle and stops
functioning

E06 The main power supply failed to Change the main power supply, or check the cable
start, is below 20V of the main power supply

EO7 Protection when the main power Reconnect power

supply is running, is below 20V

EO8 Frame tilts when running Initialize the frame

HOT Temperature of motor is high, Wait for the motor to cool, let the system rest for at
running time exceeds 2 mins within least 18 mins
18 mins

E11 Motor 1 is not connected Check the power cable of motor 1

E12 Error in Motor 1 current sampling ~ Change the control box
channel

E13 Motor 1 is out of phase and has Check the motor to determine whether the phase
phase line disconnection line connection is abnormal

E14 Motor 1 sensor error, or wire Check the signal, or change the power cable of the
disconnected motor

E15 Short-Circuit inside the Motor 1 Change the motor

E16 Locked-Rotor inside Motor 1 Initialize the frame

E17 Motor 1 runs in the wrong direction Change the motor wire

E18 Weight capicity of Motor 1 is over  Reduce the weight by removing items from the
the limit desk

E21 Motor 2 is not connected Check the power cable of motor 2

E22 Error in Motor 2 current sampling  Change the control box
channel

E23 Motor 2 is out of phase and has Check the motor to determine whether the phase
phase line disconnection line connection is abnormal

E24 The Motor 2 sensor error, or wire Check the signal, or change the power cable of

disconnected motor



E28 Weight capicity of Motor 2 is over  Reduce the weight by removing items from the

the limit desk
E40 The control box is disconnected Check the connection wires
E41 Error in the serial signal Check the connection wires, or change the control

box




